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PART - A. Read the following passage and answer the questions
below.

80 people took an exam. Abdullah was informed that he scored the 60"
percentile on the test although he got 14/20 on the test.

1. What percentage of those who took the exam scored lower than
60%

(or equal to) Abdullah? [2 points]

Abdullah: 60" percentile =
e 60% scored less than (or equal) to Abdullah
e 40% scored higher than Abdullah

2. How many people scored higher than Abdullah on the exam?
32

[2 points]

Abdullah: 60" percentile of 80 people =
e 40% scored higher than Abdullah

e 40% of 80 people = % * 80 = 32
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PART - B. Examine closely the figure below and answer the

following questions.

3. Assuming the 95" percentile Japanese civilian has a sitting height
of 96 cm, determine (approximately) sitting height for: [6 points]

Comparison showing 5"-95"
percentiles among different male
heights

Consider 95" %ile sitting height
(S.H.) for Japanese civilians:
o S.Hgs = 96cm

= Black (USAF)
(1 = White (USAF)
= Japanese civilians

| Stature

30 Crotch
95th %ile ht' 95“1 %ile
25 White’ Black
(USAF).

20 Knee

ht. Elbow
rest ht.

15

5th percentile values (cm)

—_
o

Amount greater than smallest

NN NN

5
95™ %ile] _
Japanes = op11e th' \Sth Pile
Japanese ° %ile Black
£ file J vili White 86.0 cm (usar)
a. percentile Japanese civillans (USAF)

=96 —10 = 86.0 cm

b. 50" percentile Japanese civilians 91.0 cm

10-0
=96 — ( 3 )=91cm

c. 5" percentile White (USAF) 89.0 cm
=96—(10—3) =89 cm

d. 95" percentile White (USAF) 100.0 cm
=96 + (14 — 10) = 100 cm

e. 5" percentile Black (USAF) 89.5 cm
=96 — (10 — 3.5) = 89.5 cm

f. 95" percentile Black (USAF) 98.0 cm

=96 + (12 — 10) = 98 cm
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